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m2 wiwlgd .m2 dqn lra wiwlga zihql` ybpzn m1 dqn lra wiwlg .1
zeybpzdd xg`l .dcarnd ly qegid zkxrna dgepn avna dligz `vnp

.ely izlgzdd oeekd on θ1 ziefa m1 ly lelqnd hqen

fkxn zkxrna hqdd zief θ xy`k tan θ1 = sin θ
cos θ+m1/m2

ik e`xd (`)
.dqnd

oezp dcarnd zkxrna θ1 xefitd zief ly ilniqwnd jxrd ik e`xd (a)
.A = m2/m1 xy`k tan θ1 = A/

√
1− A2 i"r

-xaerd (mipexhwl` `ll meild ineh`) α iwiwgly ,`vnp ieqpa (b)
zkxrna) 15o ly zilniqwn dihq yi onin ineh` ly fb jxc mi

onind meh`l ziqgi α wiwlg ly dqnd z` ekixrd .(dcarnd

zqn ly iepyd avw .akxl ziqgi v0 zexidna xeg`l fb hlet llg akx .2
llgd akx zexidn z` e`vn .Ṁ = −α reaw wlcd ztixy oiba akxd
dzqne u0 zillgd zexidn t = 0 a ik egipd) onfd ly divwpetk enewine
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